P- W {141+ 1]H/Pe/T1
1511
GEOGRAPHY (Honours)
Eighth Poper
(Practical)
Set - I a
Full Marks < 50 Time : Three Hours
The figures i the margin indicate full mariks.
Arswer all guestions.

1. Take staff remding of the given stations with m least
onie change point (st given interval) by o Dumpy Level and
peepare a fickd book (Collimation method) with B.M. 25
metres. Plot the profile wath suitable soale _

 {Can @n tron ohject cause srror in reading of Prizmatic
Compuss Survey 7

Giive reasoms in support of your answer. [ 7+3=20

v,

Disternine the height of & given object with the help
of Theodolite (Base sccessible), Prepare a table and plot
with surtable scale.

Wiite on desadvantages in Plane Table Survey.

| 74320

Scanned by CamScanner



{ 2.)
i

Make a1 Close Troverse Survey by Prismatic
Compass of the yiven stations EFGH and plot it with
NECEssary COmechions

Wrile on advantages and dissdvantages of Collimation
method used in Dumpy Level Survey, 17+3=10

(To be decided by lottery)

2. Draw a section along the given lne on a given
goological map and inerprete it Define line of unconformity.

10+3+2=15
3. ldentify the given specimens of mincrals and rocks
o] mention their important characteristics. 2x5=10

4 labomtory Note Book and Viva-voce. 2+3=5

¥
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Pl (14141 )H/Pr/1]
2011
GEOGRAPHY [Honours)
Eighth Paper
[Practical)
Preblem on Surveying

(In case of inclement weather]
Sat - |l

1. (a) The following consecutive readings were taken

h‘ﬂhlh’ﬂlnldm:ﬂlﬂ'mmw

ﬁ:mmﬂﬁm

gt 0.336, 585, 7.50, 935 25, 1435, 1755, 2310,
2618, 2527, 1034, 1.285, 1815, 2.45 2438, 3.584, 0.975,
1025, 1617, and 2575 1 o

The reduced leved of the first point was 120250
metre mnd the mstroment was shifted after 4th* Bth and 13th

readings. Prepare a field book and draw the profile with
suitable scale.

(b} Read the given instrument and record the
reading.
(c) Write on precautions 1o be followed in pline
table survey, 1244+4=20)
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P- 01141 jH/Pr /110
2011
GEOGRAPHY (Honours)
Eighth Paper
|Practical)
>at -
Full Marks : 50 Time : Three Hours
The figures in the margin indicate full marks,
Arswer ali guesons

|. Take stall reading of the given stations with &1 lens

one change point (st given interval) by a8 Dumpy Level and

prepare 3 fiekd book (Collmation methoad) wath first RLL. 20
mietres. Plot the profile with surtable scale

Witz om the sowces of emor in Plane Table Survey.

1 743=210)

Che:
Determine the height of & pven ohject with the help
of Theodolite (Base acoessible). Prepare 4 thle and plot %,
with mmable scale.
What is datum line? Write on its use in plotting of
Dungpy Level Survey Data, 174 3=20

PT.O,

05 BEh
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(44
Make a close Traverse Survey by Prismatic

Compass of the given stalions ABCD and plot it (included
angle method) with necessary cormechions.
Define Face Left and Face Right. 17+3=20
(To be decided by lottery) )
2. Draw u section along the given ling on a given
geological map and interprete it. How do you determine
apparant dip 7 [(+342=15

1. Identify the given specimens of rocks and minerals
and mention their important chamscleristics. 2x5=10

4. Laboratory Note Book and Vive-voce. 2+3=5
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Pl (14141 )H/Pr /11
2011
GEOGRAPHY [Honours)
Eighth Poper
(Proctical)
Set - IV
Full Marks : 50 Time | Three Hours
The figures in the margin indicate fili marks.
Answer all questions
|. Take sisff reading of the grven siations with al least
~ome change point (sl given intsrval) by & Dumnpy Level und

prepare # figld book (Rise and Fall method) with first R L.
25 metres. Piot the profile with suttable scale.

Convent whole carcle besrng inlo reduced beanng
(i) 59* (i) 280° (i) 345" 1 7+3=20
-

Determine the height of a given object with the help
of Theodolite (Base inaccessible). Prepare a table and plot
with mutable scale,

What do you mean by vertical exsggeration ? Why
i5 if neccssary in plotting of profile 7 17+3=20

PTLO

- NG
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i,

Make a Close Traverse Survey by Prismatic
Commpass of the grven mations MNOP (inchuded angle mothod)
and plot it with nocessary comections.

Write on the demenits of Rise and Fall method
followod I levellng sorvey. I'T+3=10

i, Draw a section along the given lme on & gven

geological map snd interprete it How do you identify
succession of beds of dilferent geological pannd on o Section

fme 7 10+34+2=15
1. ldentify the given specimens of rocks and mincrals
andd ‘write (heir tmporiant chamctenstics. 2n5=1{)

4. Labomiory Note Book mnd Viva-voce. F+3=5
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2 O BT H/P/
1

GEOGRAPHY [Honours)

Eighth Paper
(Practical)

Problem on Surveying
(In case of inclement weather)

Set - IV

1. {a) A field book of Dumpy Level Survey al a
common katerval of | Smetre with some mssing readings s

PT.O.

7100
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(1)

Compleie the field back and drow a profile
using smitable scale with necessary Qorrecixon,

(b) What are the sources of crror in Prismatic
Compess Survey 7

i) Mead the given mstrument and record the
readimg. 12+4+4=20

Scanned by CamScanner



P-N{1+14+1)H/Pr./11
2011
GEOGRAFPHY (Honours)

Eighth Paper.
|Practical)
Sel - V
Fuall Marks ;: 50 Time : Three Hours
The fipwres in the margin indicate fill marks,

Answer afl questions,

1. Take staff reading of the given stations with i lenst
one change point (ab given interval) by @ Dumpy Level and
prepare a field book with firmt R.L. 30 metres. Plot the
profile with suitable scale

Define whole cirele bearing and raduced bearing.
1 743=20
i
Determine the height of a given object wilh the help

of Theodelite (Base acoessihle) Prepare a table and plot
with suitshle scile.

Write on En h Mark and temporary
Bench Mark. 'ﬁm‘&hﬁm

PT.0O.

[ T
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{4 ]
Cir;

Make a Close Traverse Survey bv Prismatic
Compass ol the given stations MNOP and plot it with
MECEREArY Cormections

Write on fiducial point ard Trinsit Theodolile.
n T+ 3=20)
2 Draw a section along the given line on 4 given

genlogical map and interprete it What s true dip ?
L0H-3+2=15
3. ldentify the given specimens of mocks snd minerals

and wrile their important chamcteristion.

4. Laboratory Note Book and Viva-voce, 24 3=5
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P-N[1+1+1)H/Pr/ 11
2011
GEOGRAPHY (Honours)
Eighth Papar
(Practical)

Problem on Surveying
[ln cose of inclement weather)
Set - ¥

1. Or, (a) A Theodolite was set up al an inaccessible
distence from the tower but the theodolite was shified o
another poimt 4.5 metre sway from the first point of same
level ground. The angle of elevation of the lop of the tower
from the first point was 18%15 and 2730 from the socond
point. The heght of the instrurnent is 1.003 mofre. The bench
mark is 150 metre, Find out the actual height of the tower

(b) What are the precantions ip be [ollowed in
Prismatic Compass Survey 7

(c) Read the given instrument and record the

nedug 124444 =20
o

Scanned by CamScanner



P-4 )H/Pr /11
2011
GEOGRAPHY [Honours)
Eighth Poper
[Practical)

Problem on Surveying
[In cose of inclement weather)
Sat - VI

1.Or (a) The following bearings were observed during

Ling | _ Length Fore Beznng | Back Bearing
(i Wpetres) | -

AB 70 45" 12530

pe :

(b) Write on hench mark, permanent beneh

S _ [ —

(c) Read the given instrument and record the
reading 1244+4w20

i N-1ag
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P-N1+14+1)H/Pr. /12
2012
GEOGRAPHY [Honours]
Eighth Poper
[Practical)
Set - |l
To be used in the event of inclement weather
The figures in the margin indicate full marks.

. {g) Following tble presents data collected during a
chosed traverse survey, Comect the bearings and plot with a
suitable scale.

Lmalhﬂl:auwd
bl B~

47. EIIIJ 120 45 41“ o0

s T
T e

5450 E.T“ 15 EH’“’EH’
E.H. 4000 I!I‘ al¥

(h) How do you do the arithmetic checks while
enlculating RL for levellng”
(€} Take readings by the instniment given 1o you
1442 +d=20

AFEE - 400
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PAI{1+1+1)H/Pr./12
2012
GEOGRAPHY (Honours)
Eighth Paper
(Practical]
Set - N
To be used in the event of inclement weather
The figures in the margin indicate full mariks.

1. (a) Following table presents data collected during a
closed traverse survey. Cormect the bearings and plot with a
siiitable scale.

{m)

mm S 715 B

E | N294SE | S 28°30'W
w #3% 30'E
N 42° 15' E

(b) How do you cormect computed Included Angles?
1842 =20
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P-4V )H /P /12
2012
GEOGRAPHY [Honours)
Eighth Paper
(Practical)
Set - IV

Full Marks ; 50 Time : Three Hours
The figures in the margin indicate full marks.

Anternpt all the questhions
(question oo, 1 is to be decaded through lottery)

. Draw a longinudina! section along the given line with
help of data collected by you using dumpy level with a

suitabile scale. BM of the first point is 30 m. Calculate gradient
between the second point and the last point. What is
coltmation linc? 16+2+2=20

O
Find out the height of the tower located in the encrmy
wrritory (leveled) with the help of Transit Theodolite, Justify
the name ‘Tronsit Theodolite®? What are the uses of
Thendolie” 16+242=70)

PT.O.
LIRS 1+ 4
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( 2)
Or.

Attempt @ closed traverse survey with the help of
Prismatic Compass and given details about the field. Also
plot the data with necessary corrections if any. Distinguish
bearing from angle. What is reduced bearing?  16+2+2=20

| O

Transfer the objects on the sheet from the field using
Plane Table (intersection method). Compare the map distance
between two objects with the ground distance. Justify the
name ‘intersection method” of Plane Tabling ~ 16+2+2=20
2. Draw a geclogical section along the given line and
e e 10+5=15
3. Identify the given sample of Rocks and Minerals and
mention at least two imporiant properties of each of them.
2=5=10

4. Laboratory Notebook and Viva-vooe 347=§
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P-N{l«1+1}H /P f12
2012
GEOGRAPHY (Honours)
Eighth Poper
[Practical)
Set - Vi

Full Muarks : 50 Time | Three Howrs
The figures in the margin Indicate full marks

Attermpt olf the guestions
(question no. | 15 1 be decided through lotiery).

1. Draw o longitudinal section along the given fine with
help ufdﬁmlﬁlﬂhyfnu using dumpy level with a
suitnble scale. BM of the first point is 15 m. Distinguish Foee
Sight and Back Sight. Mention the use of Datum line while—
prepambon of dwing for leveling. | &+242=20

Cir

Find ot the height of the tower locmed in the e enemy
territory (leveled) with the help of Transit Theodolite. Wy
do you require face left and face right in n *Transji

Theodolite™? Distinguish ‘Bonch Mark” from *Dam’.

16424220

PO, ‘

E'1Y.400
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(2 )
Chr,

Atemnpt 8 closed traverse survey with the help of
Prismatic Compass and given details about the field. Also
plot the data with necessary corrections i any, How to
calculate included angle only from FB of lines? Why docs
closing error vecur? 16+2+2=20

O

Transfer the obgects on the sheet from the field using
Plane Teble (imtersection method). Compare the map distnmece
berween two objects with the ground distance, What is
fiducial edge 7 Under what condition intersection method is

recornened 7 , 17+ +2=2(
2. Dmaw a geological section along the given line and
imvierpret it 10+5=15

1. Identity the given mmple of Rodks and Minerals and
mention af least two important propertics of each of them.
245=1()

4. Laboratory Notebook and Viva-voce 3+ 2=s
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P-I(1+1+1)H/Pr./12
2012
GEOGRAPHY (Honours)
Eighth Paper
{Practical)
Set - VI
1o be used in the event of inclement weather

The figures in the margin indicate full marks.

3. (a) Following readings were extracted from a level
ficld book Readings were taken on sloping ground at a
common interval of 50 m. The instrument was shified after
4% and T* readings. 3.460 (on A), 2.730, 2.165, 2.405,

1.510, 1.905, 0.720, 1.150, 3.210, 2.145, 1.785 and 2.765
(on B,

The RL of A is 249.550 m. Enter the readings
in the form of a field book and draw the section with suitable

datum. Apply usual check and calculme gradient between the

haghest and the lowest points,
(b) What are the sourves of error in Plan Tabling?
|44244=20
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P-l{1+1+1H/Pr./12
2012
GEQGRAPHY (Honours)
Eighth Paper
[Practical)
et - X
To be used in the event of inclement weather
The figures in the margin indicate full marks.

l. (a) Follwing reschings were extrcted from o leved fiehd
readings in the fiekd book ind compute RL of the statiors. Apply
usual check and draw the section with suitnble dsum

Crainge | BS | 1S [ FS | Rise | Fall | AL | Remst]
im) | (=) | =) | fm) | (m) | im) | (m)

o [a u9260)  mM |
0. | 1788 . 0750 P

R 1950
w | ligs| | cp
An - L0 1.5|:|||:_ 5 1
20 ’ |00 | =1
o | a5 ws| | %
It 1575 W) | _J:

S PT.0,
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ﬂﬂ What role prism plays in a Prismatic Compass?
(¢} Take readings by the instrument given to you.

14+2+4=20

Scanned by CamScanner



. P-U{1+14+1)H/PrS14 [NS)
2014
GEOGRAFPHY [Honours)

Eighth Paper
(Proctical)
(New Syllabus)
Set-|
To be used in the event of inclement weather
The figires in the margin indicate fill marks.

. (o} Following readings were extrcted from a level
fickd book where some readings were missing. Find out the
missed readings in the fGeld book and compuie RL of the

stations. Apply usunl check and dmw the saction with suitable

Scanned by CamScanner



(b) What mole prism plays in a Prizmatic Compass 7
(c) Take readings by the instrument given (0 youL

14+2+4=20

Scanned by CamScanner



Pl {14141 JH/Pr/14 [NS)

2014

GEOGRAPHY [Honours]
Eighth Paper
[Practical)
(Mew Syllabus]

Set- 1l

Full Marks ; 50 Time : Fouir Hours
The figures in the margin indicate fidll marks.

Attempt all the questions. (question no. 2
and 3 are 10 be decided through lottery)

1. Measure the ground aren of the basin graphically.
State disadvaninge of such method. a+1=5

2, Draw a longitudinal section along the given line with

help of datn collected by you using dumpy fevel with a
suitnble scale. KL of the first station 1w 35 m. Swile uses of

15 the least couant of the leveling siafl that you have used?
1642+ +]=20)
O,
Find out the height of the tower Jocated in the

:l:lﬁtnrjlp' (leveled ground) with the help of T::::ﬂ

Wiy 4%n RT,U-
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{2)

the horizonial plane? Distinguish ‘Spot Height'
Froum “Bench Mark”. | +2+2=20)

O,

Attempt o closed traverse survey with the help of
Prismatic Compass and given details about the field. Also
plot the data with necessary corrections il required. Why is
prism wsed in this Instrument? What is closing
crror’ 16+3+1=20

I

Transfer the objects on the sheet from the field using

Plane Table (radintion method), Elevation of the point

A is 560 m and the point B i 1050 m and the distance

hetween those points on the map is 10 em drawn on

a scale 1 : 10000, Find out slope as well as grodient

between those points. Mention two disadvantages of
Plome Tabiing. ' o 1A4+d+2=20 -

3. () Dmw o neat Groticule on Sinusoidal Projection

o prepare the world map. The projection interval is 30° and

the scale of the map is 1 : 120,000,000, 17

{b) Mention two properties of parallels and
meridinns in this projection. How many standard pamllels are
there in this projection? 4=

O,

{2) Draw o neat Grticule for north hemisphere on
{epomanic Projection (polar Case). The projection interval
s 30* and the scale of the map is 1 : 70,000,000, 17
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e b e

(3 )

(b) Justify the nomenclature of Gnomonie
Projection (Polar Case). Do vou think this projection is
suitahle 10 prepare map of Amazon basin? Why? 19%4+1%=3

O

(n) Draw a neat Graticule on Conical Projection
(One Standard Parallel) to prepare map of an area berwesn
30°N parallel 1o North Pole (interval 15%) and 10°W to
110°W meridians (interval 15%). The seale of the map is
1 2 55,000 000, 17

(b} Do you recommend Conical Projection (One
Standard Parallel) for prepamtion of the world map? Why?
Is it possible 1o have tangential point at the equator in this
projection 7 2+1=3

L

(a) Draw a neat Graticule on Mereatar's
Prujection to prepare map of an ares demarcated by
Equator to BO°N parallels and 180°E to 180°W meridians
{through Prime Meridian), The projection interval is 10F and
the scale of the map s 1 : 150,000,000, 17

(b) Do you recommend this projection for
preparation of maps for using in aviation? Write two
properties of parallels. 2+]=3

4. Laboratory Notebook and Vive-voee, 3+2=%
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P-U{1+141)H/Pr/14 [NS)

2014

GEOGRAPHY (Henours]
Eighth Papar
(Practical)
(New Syllabus)

Set -1V

Full Marks : 50 Time : Four Hours
The figures in the margin indicate full marks.

Artempt all the gquestions. [queston no. 2
and 3 wee w0 be decided through lotiery)

1. Measure the ground area of the basin graphically.
Comment on sccumcy of such method. 4+1=5

2. Draw a longimdinal section along the given ling with
help of data collected by you using dumpy level with a
suitable scale. RL of the first station is 40 m. Caleulnte
grodient between the second station and the lasi
station. What is collimation lne'! 1642+2=3()

&

Find out the height of the wer locuted in the enemy
teritory (leveled ground) with the help of Transit Theodolite.
Justify the name “Transit Theodolie"? Whit sre the usss of
Theodalie? 16624-2=20)

PT.0O,

LIFE LR
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Amtempl 1 closed traverse survey with the help of
Prismatic Compass and given details about the field, Also
plot the date with necessary comectians iff required. Distinguish
bearing from angle? What is reduced bearing?  16+2+2=2(

Ch:

Trumsfer the objects on the sheet from the ficld using

Plane Table (rdistion method). Sum of included angles of a
closed traverse with 8 stations 5 718° What is the
correction factor and how would you correct the calculated
included angles? Justify the name ‘radiation method” of Plane
Tahling. 14-+4+2=21}
3. {a) Dwaw a neal Craticule on Sinusoidal Projection

o prepare map of the world. Central Mendian is 90°E. The
projection interval 18 30° and the scale of the map is

I 125,000,000, 17

(b} Why the projection is named s¢ 7 Does it

belong (o conical group of projection 7 2+1=3
O,

(a}) Draw a neat Graticule on Cylindrical Equal

Area Projection (Polar Case) o prepare map of an area
demarcated by 20°N to 60°N paraflels and 150°E 1o 130°W
meridians (through Intemationel Date Line). The projection
interval is 107 and the scale of the map is 1 ; 70,000,000,
17
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( 3 ) T

(b] Justify the nomenclatiure of this projection. Which
region of the world can not be suitably shown in this
projection T Why 7 1+141=3
(i

(3) Drmw n neat Graticule on Polyeonic Projection
io prepare mop of an area from South Pole to 407 S
parallel and 150 E o 130* W meridians (through
International Date Line). The projection interval s 107 and
the scale of the map is 1:70,000,000. 17

(b) Menlion two imporiant properties of this
projection. How many standard parillels are there in this
projoction” 24+]1=3

Ch,

(o) Draw o neal Graticule on Mercator’'s
Projection to prepare map of an area demarcated by Equator
w 3078 parallels and 170°E to 170°W meridians (through
Prime Meridian). The projection interval is 10° and the scale
of the map is 1 @ 140,000,000, 17

() Do you recommend this projection for
preparation of maps for wiing in Mavigation? Write two

m&m. 1_|.1...3
4, Laboratory Notchook and Viva-voce. g
(TYETT
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P-0{14141)H/Pr/14 (NS)
2014
GEOGRAPHY (Honours)
Eighth Paper
(Practical)

(Mew Syllabus)
Set -1V

To be used in the event of inclement weather

The figures in the margin indicate full marks

2. () Following consecutive readings were recorded
with a level and 4 m leveling staff on sloping ground &t a
common ilerval of 30 m. The tnstnement was shifted afier

t1h, 7th and 10th readings, 0.885 (on A), 1.245, 1.275,

1.428, 1,540, 0.124, 0.320, 0.550, 0.950, 1.160. 1.560 and
1.760 (om B). '

The RL of A is 95.005 m. Enter the readings in
fh:fmmnflﬁﬂdbmknmiMwhm&mmmmimhh

daturm. Apply useal checks mnd caleulnte pradient between the
highest and the lowes points.

(b) What are the uses of Plan Tabling 7

{:}Tﬂ:rudh:phyﬂtlrmmuivmmm
l4+24+4=2q)

LERL T
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Pl (1+1+1JH/Pr/14 [MNS)
2014

GEOGRAPHY (Honours)
Eighth Poper
thﬂl:l'il:l:‘I“
(New Syllabus)
Set-V
To be used in the event of inclement wenther
The figures in the margin dicate fill marks.

1. (a} Following consecutive readings were recorded

ﬁﬁuhﬁﬂlmh:m@mﬂmumﬂ'ﬂ
ground at o common intervel of 40 m.

0.755 (on A), 1.545, 2.335, 3.105, 3.
1.375, 1_,'1511. 2810, 3455, 0,265, 1.015, 1

1 I o

2645, and 1485 (on B). F* s

The RL of A is 510455 m. Complete a level
field book und dmw the section with sultable datum, iitable datum, Apply

usual check and wﬂww

pins.

L ——

B3,

(b)) What are the Hmlm:lnu af Plan Tabiing?
(c) Take readings by the instrument given 1o you

14+2+4=70

8411 =430
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P-1{141+1)H/Pr/14 [N5]
2014
GEOGRAPHY (Honours)
Eighth Poper
[Practical)
(Mew Syllabus)
Set - VI
Te be used in the event of inclement weather
The figures in the margin indicate full marks.

l. {a) Following tmble presents data collected during a
closed traverse survey. Correct the bearings and plot with o
suitable scale.

H00 | 0w

>

() What are the different
Theodolite 7

R 2414-29

i 2 — cm oW o M
Scanned by CamScanner
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Pl {14141 )H/Pr/15 (NS
2015

GEOGRAPHY [Honours)
Eighth Paper

[Practical)
(Revised Mew Syllabus)
Set |
Full Mark= : 50 Tune : Four Hours

The figures in the margin indicate fill marks,

1. How much of ares m Hanrampur block of Dakshin
Dinajpur district is ocecupied by Fine Loamy Typic
Ustochrepts soil series T Calculate by means of graphical
methad from the given map, 5

2. (n) What is developable surlnce 7 In case of which
projection mone than one developable surfaces are used 7

I+1=2
tb) Draw graticule on Cylindocal Equal Area
Projection using parameters a% given below mnd also show
ﬂthﬂ:HEﬂa-ﬂTmphufcmmhrmh
even though they are not appearing as per the interval
Extension of Parallel : Up 1 30°
i _ P on bath the

ET.0,

1. wia
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{2)
Interval for Pamlle] - 15°

Interval for Mendian @ 10F
Scale : 1 : BD,000,000 18

3. {(a) Which of the following parameters of a plotiad
polygon, in case of Prsmatic Compass Survey, is cormected
by means of Bowditch’s Method In order to sdijust the
chosing error : (i) Angle () Distanee (i) Both., 2

(b) Conduct n levelling survey with the help of
Dumnpy Level for cight stations macked on the ficld with one
change point and prepare the feld book and calculate RL
by meies of Collimation method twking 30m as the RL of
fira saation and plot the profile with suitable scale 18

Attempi Question No. 3c) & 3{d) instead of (Puestion
Na, 3(b) only in case of Inclement Weather

(¢) Faollowing mble shows the datn collected diyring
Dumpy Level survey Calculate the RL by mecans of
Collimation method and plot the data to construct a

Scanned by CamScanner
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HEHORE

|5 s|3]s]s)e
1T Iiiiiﬁ“

U] [E]

EIIEE’E
HAE
E

mmTﬁthmdﬂw_
of & Tower. Calculate the ssme (No need 1o plot). It 5

mmﬂd&luﬂmﬂﬂ'ﬁlﬂdmﬂmnﬂﬁmEnﬂlu
rwo stations one is farthest from the

(i Height of the instnament st both the stafions
1.2 m.

(i) Diistunce between two stations © 21 m

F&Tﬂ n

i . ASh
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(4)

i) Angle of elevation of the Tower measured
from farthest station : 28,

(iv) Angle of elevation of the Tower measured
from closest station : 33°, &

4. Laboratory notebook and viva-voce. 3+2=5
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P-1{141+1]H/Pr/15 [MN5)
2015

GEOGRAPHY (Honours]
Eighth Paper

(Practical]
(Revised New Syllabus)
Set -1l
Full Marks ; 50 Time : Four Hows

The figures im the margin indicate fil] marks

1. How much of ares in Banshihan block of Dhikshin
Dinajpor district is occupied by Malds Formation ? Caleulate
by means of gmphical method from the miven: map. 5

2. (n) Mention to which of the following eategories
Polar Zenithal Gnomonie Projection belongs 1o ; (i) Perspective
(i) Semi-perspective (1) Noo-perspective. Give reason behind
]I_I-l'l:lﬂi:l l-'!'l-l

(b) Drusw graticule on Bonne's Projection with the
mammeders as given below and also show the Artic Circle
by menns of broken ling even though it in not appenring as
per the imerval : ' .

Extension of Purallel : 50°N to 70°N,
Exension of Meridian : 0% 1o 40"E.

P10,

Scanned by CamScanner
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(2
Interval for both Porallal and Meridian : 102

Seale - 1 : 40,000,000, 1%
3. {a) What do vyou mean by the iferm
Reconnaissance 7 2

(b) Make a closed traverse survey with the help of
Prismatic Compass and draw traverse with adjustiment of
closing ermor if comes. I8

Attempt Question No, 3(c) & 3(d) instend of Question
No, 3ib) onfy In' cave of Inclement Weather

{¢) Plot the dats in following mble to dew a closed
traverse with necessary comection if any. 12

(d) Following Trigonometrical Levelling data were
collected with the help of Transit Theodolite for determining
the beight of a tower. Calculate the same with these data (No

Scanned by CamScanner




(3

ﬂﬁmlﬁﬂlhhmwmwmﬂum
nmmllmm-mmllumph:m

(1) Height of the instrument : 1 2m.
() Angle of elevation of the tower @ 35°.

(m) Distance between the tower and the
mstrument : (0m, fi

4. Laborstory notchook and viva-voce, 3+2=5
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P-U{1+T+1)H/Pr/15 [NS)

2015
GEOGRAPHY (Honours)
Eighth Paper
(Practical)
(Revised Mew Syllabus)
aet - i
Full Marks : 50 Time : Four Howrs

The figures in the margin indicate fill marks.
|. How much of the area in Tapan block of Dakshin
Crnajpur distnict is oceupled by Baringd Formnation 7 Caleulase
by means of gmphical method from given mop. L
Z (n) What is Soale Factor ? For what group of
projection Thngentinl Scale Factor (TSF) and Radial Seale
Factor (RSF) are equal 7 1+}=2
(b) Draw griticule on Polar Zenithal Gnomonic

Projection with the parsyeters as gven below and also show
the Arctic Circle by broken line even though it {8 mot

appearing ns per the scale :
Exiension of Parslle] : S0PN o0 70°N
Extension of Mendion : 60°FW o 20°E
interval for Pamlled : 10°

" PT.O.

il -4%
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i
Imerval for Meridian ; 207

Seale 1 1 : 40,000,000 K
3. (n) Find owt o single difference between the termy
Datum and Bench Mark, 2

(b) Messure the height of any chosen building of the
examination centre by Transit Theodolite by means of hase
inmccessible method. The height of two stations will be
different but both the matruments and the object will be
collinear and it is assumed that all arc coplanar also, 14

Attempt Question No. 3c) & 3(d) instead af
Ouestion No, 3(b) only in case of Inclement Weather

(c) Plot the dats in following twble to dmw a closed
traverse with pecessary cormection if any, 12

(d) Following Trigonometical Levelling data were
callectad with the help of Transit Theodolite for determining
the height of a tower. Calculate the same with these data
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()"
(No need to plot). It is assumed that the instruments and the
tower are collinear as well as coplanar.

(iv) Height of the instrument : 12 m.
(v) Angle of elevation of the tower : 40°

(vi) Distance between the tower and the
instrument : 30 m. é)

5. Laboratory notebook and Viva-voce. I+2=5
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P-1{1+1+1)H/Pr/15 (NS)

2015
GEOGRAPHY (Honours)
Eighth Paper
[Practical)
[Revised MNew Syllabus)
Sel - ¥
Full Muorks : 50 Time : Four Hours

The figures In the margin ndicate full marks.

1. How muth of the area in Tapan block of Dakshin
Dinajpur district is ocoupled by Uplifted Flood Basin?
Caleulsie by means of grmphical method from given map. 5

1. (o) In case of which projection does the pole
uppear s an . wwd why 7 |+]=2

(b) Draw graticule on Cylindrical Equal Area Projection
using parameters as given below and also show the Tropic
of Cancer and Tropsc of Capricom by broken link even though
they are not appearing as per the interval

. Extension of Parallel : Up © 45° an both the
Hemisphere

Extension of Meridian : 20°W o 80°E.
Interval for Pamlle] - 157,

PTO
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( 2)
Interval for Menidian ; 20°
Scale : 1 ; 80,000,000, 18
3. (a) What is Trgonometric Levelling 7 2

(b) Make a closed traverse survey with the help of
Prismatic Compass and draw traverse with adjustment of
closing emor if comes. 18

Attempt Question No. 3(c) & 3(d) instead of Question
Na. ifb) enly in case of Inclement Weather

(c) Plot the dat in following whie 1© draw a closaed
tmverse with: necessary cormection if soy.

.I-!_*ﬁ:iII

{d) :Fnl.ll:l-wi.ﬂg Trgomometrical Lml::i]mg dma were
collocted with the help of Transit Theodolite for determining
hhﬁﬂtﬂlmuﬁhmnhﬂ:mﬁmmhmu
need to plot). It & e thet the instrements and the fowes
we colliness as well as coplanar

(i) Height of the instrumesst : 1.2 m,
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( 3)
(i) Angle of elevation of the tower : 45°

(i) Distance between the lower and the
instrument : 40 m. 6

4. Laboratory notebook and Viva-voce I+2=5
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P=U{1+1+1}H/Pr/15 {NS]

2015
GEOGRAPHY (Honours)
Eighth Poper
[Practical)
[Ravised Mew Syllobus)
Set - Vi
Full Marks : 50 Time : Four Hours

The figwres in the margin Indicate fidl marks.

l. How much of the area in Hili block of Dakshin
Dhnatjpmir distnet &5 ocoupied by Swamp 7 Calculate by means
of graphical method from given mep. -

2. (2) What type of projection would you choose ta
ihow the ocesn curreni distribution pattern? Give reason 1o
WL AETWET 1+i=2

{b) Draw graticule on Polar Zenithal Gromoaic
Projection with the peameters a5 given below and also show
u:ﬁ:mi:ﬂir:i:hyl'ﬂuimlﬁuumlhmghil I8 not
appearing as per the scole -

Extension of Parallel - S0°N 10 707N

Extension of Meridian - |60°F P
160°W as CM) skl

Irterval for Parslle] © (oo

T RT.O.
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( 2:)
Inderval for Meridian = 20°
acals < 1 : 40,000,000 1B

3. (n) Why does closing error come when the
observed traverse is plotted in case of Prismatic Compiass
SUrVeY? 2

(b} Messure the height of any chosen building of the
examination centre by Transit Theodolite by meuns of base
inaceessible method. The height of two stations will be
different but both the instruments and the object will be
collinesr and itis sssumed that all are coplanar also. 1]

MMHJ\’#.JM.IJHM#M
Ne. 3(b) enly in case of Inclement Weather

(c) Following Trigonometrical Levelling data were
collected using Transit Theodolite for determining the height
of a Tower. Calculate the same (No need to plot). It is
mmmﬂmmmﬂhﬂnwﬂiu
mplmﬂulnfthtmnﬂlﬁmmhfmhﬂﬁmnlhe
tower and another one is closest 1o it Also explain the logic
behingd the mathernatical tool you are usng. §+4=12

(i) Heiuht of the instrument at farthest stations :
| 2 m.

(@) Height of the instrument ot closest station ©
14

(B} Distance between two staions @ 25 m
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(3 )
(iv) Angle of elevation of the Tower measured
from farthest station @ 307
(v) Angle of elevation of the Tower measurcd
from closest station : 15°

{d) Calculate included angle (interior) with the given
.t:uinﬂr.[u]lnwhgﬂhh. 6

4. Laboratory notebook and Viva-voce. 3+2=5
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P-1l [14141)H/Pe/16

2016
GEOGRAPHY [Honours)
Eighth Paper
(Practical)
Set-|
Full Mirks : 50 Time : Four Hours

The flpures in the mergin indicate full marks,

1. Measure the area (on ground) of the given river
basin applving graphical methad. 5
2, {n) On n Cylindrical Equal Area projection, the
Tangential Scale Factor st certaln point @ is given us 0.98752
Whit will be the Radial Scale Factor on p 7 3

(b} The comtine of Affica is exttended from 37T21'N
o 34°51°15"S lengtode and S12°27'52°E w1733 22°W
|atituele. Draw a neat graticule on Sinusoidal Projection af an
interval of 10* with the B.E. 1 : 60=10° 10 sccommindate
the continert of Affics within 1t Label ihe proection property.

15+2=]7
3. (a) Write the following whole dircle bearings in the
cuuadranal foom |
1) 314%37
i) 187°58°
PT.O.
N 1700
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{2)
(i) 12045
(iv) 112° [=d=4

(b) @ Prcpare a ficld book 1o note the readings of
the wertical angles using transit theodolits o
determing the height of the mven object,
Fuui:hdmﬂt.ﬂ:ﬂriﬂmmppufﬁming
the staff, placed ut the base of the phject

(m) Observe the required readings from

theodolite for determining the height of the
given object and note them in te ficld book

() Calculate the height of the given object from
basc.

(iv) Calculate the hypotenuse distunce between
the instrument at first station and the top of
the object 2+645+3=16

O

{b) () Prepare a field book to nole the stafl
readings on given 8§ (eight) equidistant
to be shified after 3rd and 6Gth readings,

(1) Observe the staff readings accordingly and
note it within the field book.

(i) Calculate the reduced level of all the siations
(using the given B.M. infonmation) with a
suitmhle method.
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( 3)

(iv) Plot the reduced levels with suitublis scale md
label it properly. 24hA4d=16

{;

i ilaternl closed traverse
(1) @ Plat the given quadrilat
-n&thamimhttsmlnumgnpm::mhlnmd
related socessones.
[ﬁ][ahﬂlmﬂplﬁh:dmpmpﬂi}n

) Locate the given object (X) within the
traverse and plot it within the raverse }’l:l;
10+2+4=1
drawi

4. Laboratory Note Book and Viva-vocc: 342=5

___-—-—-
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P-N(1+1+1)H/Pr/16
2014
GEOGRAPHY (Honours)
Eighth Paper
(Practical)
Set - |

This alternative guesiion sef to be used
in cuse of inclement wenther condition only.

3, (b) () Measure the distance between the instrument
(A) and the given object (B) using the
leveling stafY and transit theodolite, applying
siadin method. 4

(i) The following staif readings has been taken
along four radial lines with four equidistant
staions on each of the Jines. The smangement
of lines and stations are also given below,
Calculate the reduced levels of each points
and draw three contours with a suitable scale.
Labed the sheet properly. - e 2=11

by i
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Dismnos (m) | Staff Bendirgs (m) | Remark

= & | 5 |

m? M esmm
“- 020
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P-U[1+1+1|H/Pr/16
2014
GEOGRAPHY (Henours)
Eighth Paper
(Practical)
Set-1ll
Full Marks : 50 Time : Four Hours

The flgures in the margin indicate full marks.

I. Measure the area (on ground) of the given river
basin applying graphical method. 3
2. (a} A Simple Conical pojection, derived from a
penemiting wobe of 5 mnches mdius, shows the length of 407N
parailel drown on the projection as 15 inches. Calculate the
Tangenfinl Scale Fuctor on the sud pamllel of latitade, 3

(b] Draw a neat graticule on Polar Zenithal
Cnomonic projection ot an interval of 10% with the RL.E
1:45=10° for the southem hemisphere. Label the projection
properiy. Also, drow the Antarctic Cirele on the graticule.

1242+3=]7

1. (a) The Forward Bearing of u line i3 measured as
965°30" and Backward Bearing of the same line is memmared
as 276" with a Prismatic Compass. How do you adjust the

bearings 7 P43

ET.O
W 4= 700 _
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{ 2 )

(b) (i) Prepare a fiekd book 1o note the readings of
the vertical angles using transit theodolite to
determine the height of the given object,
pravided that, there is no scope of viewing
the stuff, placed ot the base of the object

{m) Observe the required readings fram
theodolite for determining the height of the
given object and note them in the feld book.

(@) Calculate the height of the given object from
base.

() Calculnte the hypotenuse distance betwesn
the instrument of first station and the top of
the object. 2+h+5+3=1h

O

(&) @) Prepare n feld book to nole the staff
readings on given B (eight) equidistant
collinear stalions, provided that, the
instrument o be shified after 3rd and Sth

readings.

(i) Observe the staff readings accordingly and
note thern in the field book.

(i) Cnlcuinste the reduced level of all the stations

(with the given B.M. information) using =
suitabde method.

(i) Plot the reduced levels with suitable scale
and lsbel it propery, 246+444=16
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{ 3)
O

(b) () Plot the given quadrilaternl closed traverse
with a suitnble scale using a plane table and
related accessories

(i) Label the plotted trverse properdy.

(i) Locate the given object (x) within the
traverse and plot it within the traverse You
drawn. 1H-2+4=16

4. Labomtory Mote Hook msd Viva-Vooe. I+2=5
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P-U{1+1+11H/Pr/16&
2016
GEQOGRAPHY (Honours)
Eighth Paper

(Practical)
Set- Il

This alternative question sef to be used
in case of inclement weather condition only,

3. (b) () Two given lines : AB and BC have formed
the intenor £8. Take required observations
with the help of & prismatic compass and a
mngng mod and determine the interior Z8.
4+2=h
(@ The following is the page of a level book.
where some reading were mission, Fill in the
missing resdings and caleulste the reduced
levels of all the siations, Dmw the profile
with a suitsble scale and label it neathy;
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P-1{1+1+1)H/Pr/16

2014
GEOGRAPHY [Honours)
Eighth Poper
(Practical)
Set- 1l
Full Marlks : 50 Tune : Four Houors

The fipwres in the margin imcicate fiell marks.

1. Measure the sres (on ground) of the given river
hasin applying graphical method. 5
2. {n) On & graticule, drawn on Simple Canical
Projection with one Standard Parallel, the Jength of 60°N
porllel, bounded by the Prime Maeridien and 30°E Mendian
is measured as 2.5 inchex What is the radius of the
Generating Globe (R) from where the projection has been
derived 7 ]
(b} Draw n neat graticule on Polar Zenithal
Gnomonic projection at an interval of 10 with the R.F,
1:45%10° for the northen hemisphere. Lavel the projection

properly. Also, draw the Tropic of Cancer on the graticule.
1241+3=] 7

PT.O.

iiLy - Mo

Scanned by CamScanner



(2)
3. () Convert the following reduced bearings to Whale
circle bearings :
M S3FNE
@) N 27745 W
(@) S 30°15° W
(v N 15°15° E | ==

(b) () Prepure o field book to note the readings of
the vertical angles using transit theodolite to
determine the height of the given object,
provided that, reading the leveling smaff,
plnced st the base of the object, is possible.

() Obsgerve the required readings from
theodolite for determining the height of the
given obkect and note them in the ficld boak:

Calculate the height of the given object from
base.

(W) Caloulate the hypotenuse distance between
the instrument and the top of the object.
24+6+5+3=16

E
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{ 3 )

@) Label the plotted traverse properly.

i) Locate the given object (x) within the
traverse and plot it within the traverse you
drwwn. 0+2+4=16

¥4

(k) () Prepare a ficld book to note the staff
* readings on given 8 (eight) equidistunt
collinear stations, provided that, the
instrument to be shifted after 3rd and 5th
reacdings,

(i) Obscrve the staff rendings accordingly and
note them in the fsld book.

(@) Caleulnte the reduced level of all the sintions
(with the given B. M. information) using a

suitnble method.
(iv) Plot the reduced levels with suitable scale
and label it properly. 21644 +4=16

4. Laboratory notcbook and Viva-voce, 342=5
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P-1 (14141)H/Pef16
2016
GEQGRAPHY (Honours)
Eighth Paper
(Practical)
Set - 1l

This alternative question set to be used
in case of inclement weather condition only.

- (b {E}ﬂhﬂ:ﬁ!ﬂmm;ﬂrmﬁumlh:lﬂvdﬁmmﬂ‘
placed on given two stations : A and B. IL
the RL of A is 170.50 m, then calculnie the
RL of B, (242)y+2=6

(i) The following consecutive readings (in m)
were taken on equidistant siations along a
120 m long line X¥ with a leveling staff and
n dumpy level :

0.455, 0.685, 0.825, 1.755, 1.850, 2.355,
1,750, 0.415, 0.695, 1.230, 2.160 and
3.050

The instruments were shifted after forth,
seventh and ninth readings s
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Fmpmeﬂm'tlhmkumlnlr:ulﬂnhum
of different points, given, the RL of the first
stathon is 225 m.

Draw the profile with & suitable scale and
tabel it neatly, (2+4)+3+1=10
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P-Ul (1+1+1)H/Pr/14
2014
GEOGRAFHY (Honours)

Eighth Paper
(Practical)
Sal - |V
Full Marks ; 50 Time : Four Howrs
The figures in the morgin imdicate fill maris,

1. Measure the area (on ground) of the given niver
basin applving praphical method, 5

2. (a) On a graticule, drawn on Cylindrieal Fiual Ares
Projection, the length of 60° E meridian, bounded by the
Fquator and 40°5 parallel is measured as 3.2 inches. What
is the rdius of the Generating Globe (R) from where the
projection hes been derived 7 1

{(b) The continent of Scoth Amenon is extended from
12.985° N to 55.9725% § [latitude and 24.5182° W to
81.3699° W longimude. Draw gruticule on Simple Conical
Projection with one Standard Parallel ot an interval of 10°
with the R.F. 1:130=10" to sccommodate the continent of

South America. Lavel the projection neatly, 1542m]7

PTO.

(FRFA |
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(2)

3. mTﬂemIfr:ndhmukmnﬂlh:umﬁmEQ
mﬂﬂh}rﬂrmwlmﬁuﬁﬂmﬂmﬂﬂmﬂnlﬁgm
of collimation us 1.250 m, 1005 m and 1485 m respectively.
The B.M. at station P is given &5 80,00 m. What will he
the recduced level ot sation Q and R 7 24+2=4

(b} () Prepare a ficld book to note the staff
readings on given 8 (eight) equidistant
collinear siations, provided that, the
instrument 1o be shifted after 3ed and 5th
readings,

(i} Observe the staff readings accordingly ancd
note them in the field book,

(i) Caleulnie the feduced level of pll the stabons
(with the given B.M. information) using a

muitnble method.
(iv) Plot the reduced levels with suitable scale
and label it properly. 2+6+4+4=16

Cix

{b) G) Plot the given quadrilaterl closed truverse

with a suitable acale using o plane table and
elnfed acCessories.

(i) Label the plotied traverse properly,

{ii) Locate the given object (x) within the
traverse and plot it within the traverse you
drawn. 1042 4+4=16
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{3 )
O,

(b) Frm:nﬁuldhmkmmﬂ:ﬁdmuf
m.&giﬁi:'c:aiu.ginfdiMnHinmufﬂm
gitmqumﬂluﬂﬂmﬁmmg:hn
prismatic COmpass.

(i) Observe the readings from prismatic
mmmﬂ:ﬂuhuﬁﬁm
ﬁ'ﬁﬁi?mﬁmﬂmﬁmsHmﬂtuhﬂnﬂ:l

bearings.
(iv) Plot the traverse with suitable scale and
246+ +4=16

4. Lasboratory notebook and Viva-voce. J4+2=5
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Pl {141+1}H/Pr/16
2014
GEOGRAPHY (Honours)
Eighth Paper
{Pra ctical)

3. (b} @) Two given fines : PO ond QR have formed
the interior £{2. Take required observations
with the help of o prismatic compass and &
mnging rod and determine the tnterior £E2.

4+2=8

(i) The following consecutive readings were
tuken with a dumpy level end o 4-m leveling
staff on & continuously sloping ground ot
common terval of 25 m @

2.945, 2.655, 1.850, 1.015, 0.595, 3,455,
2055, 2.055, 1.390, 0.545, 3.725, 3.125,
2.345, 1.745 and 0,905

Ghiven, the RL of the first stalion in 325.60
L

PT.0.

& 10- Y00
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( 2)

[nmﬂltr:m:lingspmpﬁﬁinaﬂcldhmk
and enlculare the Rls of all the stations,

Draw the profile with a suitable scale and
label it neatly. (24+4)+3+1=10
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P=U[1+141)H/Pr/16
2016

GEOGRAPHY [(Honours)
Eighth Poper

(Practical)
Set-Y
Fall Marks ; 50 Time : Four Hours

The figures in the margin indicare full marks.
|. Measare the area (on ground) of the given river

basin applying gmpheesl method. -
2, (8) What is Rhumb line 7 How can vou dmw 1
Rhumb line on o Mercator prejection 7 +1=3

(B) India is locsted between 8°4° -37°6° north
Intitude and 687" - 97°25" east longitude. Drow grticule on
Bonne's projection sl an interval of 10° with the R.F.
1:30=10* 1o secommodute Indin within it Label the projection
nusatly. 15+2=17

1. (&) The angle of molinmtion is read &5 18°17 Ina
tmnsit theodolite when the middle smdin of the Telescope is
Fixed with the S0m altifude mark of a tower, What wall be

the angle of inclination when the Telescope will be fixed with
100 m altitude mark of the lower 7 4

~T.O.

&7 - ™0
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i & F
(b) (i) Prepare a field book to nole Iillclsl:n-.l’!"
readings on given 8 (eight) equidistant
collinear stations, provided that, the
instrument 1o be shified afier 2nd and Sth
readings.

(@ Ohserve the stafl readings accordingly and
note them in the field book.

(@) Calculate the reduced level of all the stations
{with the given B.M. information) using a

suitnble method.
(vi Plot the reduced levels with suitable scale
and Inbel it properiy. 2+H4+4=16

k.

(b) (M Prepare a field book o mide the resdings of
the vertical angles using transit theodolite 1o
determine the height of the given object.
provided that, reading the leveling staff,
plnced at the base of the object, is possible.

iy Observe the required readings from
theodolite for determining the height of the
given object and nole them in the field book.

Caleulate the height of the given ohject from

base.

() What will be the vertical angle reading if the

instrument is shifted 7.5m sway behind the

Scanned by CamScanner
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present pusirjnrn without :hluging the
instrument height 7 2+645+3=16

Cr.

(b) (i) Fr:pl:nﬁn[dhmhmnﬂ:&wmﬂnmuf
mgnetic bearings of different lines of the
gi*-'mm.nﬂnlnnﬂ:lumﬂmmmﬂﬂ'ﬂ
prismalic compass.
() Observe the readings from prismatic
compass and note thern in the field book.
(i) Apply required comections on the observed
hearings
(%) Hmﬂmtnwmmnﬁmﬂnﬂhmd

1T T80
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P-N(1+l4l)R/FrSfl0
2016
GEOGRAPHY [Honours)
Eighth Papar
(Practicall
Set-¥Y

This alternative guestion set to be used
in case of inclement weather condition only.

3. (b} (i) Two given lines : AF and BC have formed
the interior < &. Take required observations

with the help of a prismatic compass and a

ranging rod and determine the interor £8.

44+2=8

lEIFnilnﬁin,ghlh:ﬂaldhmk:nmﬂningmz
observed bearings and distances of all the
Imﬂmﬂnﬂ:ﬂu&ﬂmm
by prismatic compass ;

ET.O.
Bi31- 04
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Apply required correction 1o the observed bearings.,

Plot the traverse with » suitable scale and adjust the

closing error (if any) grophically. Label the drawing neatly.
4+3+2+1=10
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P- N1+l H/Pr/ 16

201464

GEOGRAPHY |Honours)
Eighth Paper
[Practical)

Set - VI

Pull Marks : 50 Time : Four Hotrs
The figures In the margin Indicate fll marks.

1. Messure the aren (on ground) of the given river
besin applving graphilosl method: ;
3. (o) A gruticule i dovwe on Polar Zenithal Gromonic
Projection from g genemting globe of 5 inches mdivs, What

will be the Tangentinl Seule Foctor along 607 N Pamlle] in
the graticule 7 3

(b) Diraw graticule on Polyconie projection for
latitodinel extension of 20° N o 70* N and loogitudinal
extenston of 20° E o 807 W at on mierval of 107 with the
RF 1:120=1(F. Label the gmiicule properly. 15+42=17

3. (m) In a guadriluteral cloged traverse ARCD
(merveyed clockwise), the fore bearing of Tine AR = 1529207,

I the included angle B Is 124730, then shit will be the fore
ard back bearing of the line B 7 T2

PT.0,
LERF O 1T
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(b} (i) Prepare a field book to note the stall
rendings on given B (eight) equidistant
collinear stations, provided that, the
instrument 10 be shifled afier 2nd and Sth

rendings.
(i) Observe the stall readings accordingly and
note them in the field book.

() Coleulate the reduced level of all the stations
(with the given BM. information) using o

suitable method.
(iv) Plot the reduced levels with suitshle scalc
and lovel it properly. 2+G5+4+4=16

(.

(b) () Prepore a Teld book to note the readings of
the vertical angles using transit theodalite to
determine the height of the given object,
provided that, reading the leveling siaff,
placed at the base of the object, s possible.

iy Observe the required readings from
theodolite for determining the height of the
given objoct and note them in the feld book.

(i) Celculate the height of the given object from
base.

@) What will be the vertical angle reading if the
instrumnent is shified 10 m towards the object

Scanned by CamScanner



{3 )
from the present position without changing
the mstrument height 7 2+6+5+3=16
(i,

(b) (@ Prepoare o field book to note the readings of
magnetic bearings of diffierent lines of the
piven quadrilaters] closed traverse using the
prismstic oompss.

(i) Observe the readings from prismatic
compess and note them in the field book.

(@) Apply required corrections on the observed
besrmgs.

M) Plot the troverse with suitable scale and
mcfjust the closing emor graphically.
2+fr-ded=|

4, Laboratory notehook and Vive-voce, 3 +1=5
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P=U{1+1+1IH/Pr/16

20146
GECQGRAPHY (Honours)
Eighth Paper
(Practical)
Set-¥YI

This alternative question set to be nsed
in case of inclement weather condition only.

1. (b) (i) Measure the distance between the instrument
(X) and the given object (Y) using the
leveling staff sixl transit theodolite, applying
law degree method 4

(il The following staff readings has been taken
aleng four radial lines with four equidistant
sintions on each of the lines. The arrangement
of lines and stations are also given below.
Caloulate the reduced levels of each points
and dmaw throe contours with a suilable scale.
Labe] the sheet properly. hd+2=12

P1.O,
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P=U {14141 H/P/ 17 (N &O)
2017

GEOGRAPHY (Honours)
Fourth Paper (New Syllabus)
Eighth Poper [Old Syllabus)
(Practical]
Sat - |
Full Marks : 50 Time : Four Hours
The figures in the margin indicote full marks.

l. Mensure the area (on ground) of the given river
basin npplying groghical method 5
2. (%) An orthomorphic projection, derived from a
genemting globe on scale 1:50 = 107, showns the length of
45°N parallel dovwn oa the projection &8 23 inches. Coloulaie

the Tangentinl Scale Factor on the said parallel of latitude,
Calculate the Fadinl Scale factor 2+1=1

(b) Draw a net of graticules on Polar Zenithal
Gromonic projection sl an interval of 10° with the B.F, | -

45 = 10° for the southern hemisphere. Label the projection
properly. Also, dmw the Antanctic Gircle oo the graticules.

124243=]7

1. {a) The bearing of a line AB=N 80° E and angle
BAC=00" clockwise. Find the bearing of AC 7 4

ET.O.
(LR
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P:qﬂ:lﬁddhﬁimnmﬂumﬂf
mmﬂuuﬂnﬂn#umﬂtmﬁimnum
detormine the height of the given objec,
provided that, there is no scope of Viewing

the stuff, ploced of the base of the object,

(i) Observe the required readings from
theodolite for determining the height of the
given object and note them in the field book.

(i) Calonlste the height of the given object from
base,

(v} Calculnte the hypotenuse distnnce between
the instrument af first station and the 1op of
the object. T 5o 3=16

i

(b) (i) Prepare o field book to mote the staff

readings an given § (cight) equidistant
o be shifted afier 3nd and 4th rendings,

(i) Observe the staff readings accordingly and
node them in the field book.

(i) Calculate the reduced level of all the stations
(with the given B.M. information) using o
suitahle method,

(v) Plot the reduced levels with suitbile seale and
lnbel it propery. 2G4 =16

Scanned by CamScanner



(1)
.
(b) ) Plot the given quadrilateral closed traverse
with o suitable scale using 4 plane mble and
reinted aocessoned.

(i) Locate the given object (X) within the
traverse and plot it within the traverse You
drawn. 10+ 2+4=16

4. Lahorstory Note Book and Vivevoce,  3+2=5

e ———
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-l {14141 )H/Pr/17 (N & O
2017 |
GEOGRAPHY (Honours)
Fourth Paper [New Syllabus)
Eighth Paper [Old Syllabus)
(PFroctical)
sat- |

Thiv alternative question sef fo be wsed
in case of inclement weather condition enly

3. (b} (i) Messure the distunce between the instrumen
(X) und the given object (Y) using the
leveling stafl and transit theodolite, spplying
low degree methind. 3

(i) The following is the page of a level book,
where some readings were missing. Fill in the
missing readings and complete the table
applying all checks.

PT.O.
824 100
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Draw the profile with a suitable scale and lsbel it

neatly,

Find the gradient between station | and station 5.

(6+3+1+1=11
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P=I {14141 )H/Pr/17 (N & O]
2017
GEOGRAPHY (Honours)
Fourth Paper (Mew Syllabus)
Eighth Paper [Old Syllabus)
(Proctical)
Sat- |l
Full Marks : 50 Time : Four Hours
The figures in the margin indicate fill merks,
1. H::ﬂsummsﬁﬂq‘ungmmdjnfﬂmnﬂmnh{h
basin applying grophical methodl,

2. (a) In a Shnple Contcal Projection with one standond
parnilel, derived from a genermiing globe of 3.125 inches

mdins, shows the mchus of the stnnded . paralie I:.,-lllﬁ
inch. Find out the standard parallel ¢, 7 3

_1] (b) Draw o net graticules on Simple Conic

\ Projection with one standard pamlle] for an area extending
from 0° to 50" 8 and 125°W to 1753°W at 10° interval on

scale 1:75 = 10°, Lahel the projection nestly., 15+2=17

3. {a) Find back bearings of the following observed
fore bearings of lines ABR=63730': BO=112%45";
CD = 203245 DE=320°30"- +

FT.O.
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(-2 )
Pre a field book to note m.n_:t:ﬂ:
NS m;::! on given & (eight) equidistant
collinear stations, provided that, the
ivstrument to be shifted after 2nd and 3rd
readings.
(&) ﬂhumtmnsuﬂ‘rudinnlu:mnﬂﬂﬂl}'md
note them in the field book.

(i) Caleulste the reduced level of all the stations
{ﬁiﬁﬂnﬁvmﬂﬂﬂhumﬁmllﬂngu

suitable method.
(V) Plot the reduced lovels with suitable scale
and Isbel it properfy. 246+4+d=16
O

(b) () Plot the given quadrilateral closed traverse
with & suitable scale using & plane table and
related mocessorics,

Label the plotted traverse properly.
Locate the given object (x) within the
[ H2+4=16

O;

(b) @) Prepare a field book to note the readings of
magnetic bearings of different lines of the
given quadrilateral closed traverse using the
Mm

B @
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(3]
@ Observe the readings from prismatic
compuss and note them in the field book.

(i) Apply required comrections on the observed
beurings.
() Plot the traverse with suitable scale and
adjust the closing emor graphically.
246H4+4=16

4. Laboratory Note Book and Viva-Voce 3+2=5
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P-t(1+1+1]H/Pr/ 17 [N & O)
2017
GEOGRAPHY (Honours)
Fourth Poper [Mew Syllabus)
Eighth Paper {Old Syllabus)
[Practical)
aet- |l

Thiz alternative guextion sef to be uved
in case af inclement wenther comdition only

3. (b) (i) Measue the distance between the instrument
{(A) and the given object (B) using the
leveling staff and tmmit theodolite, applying
lorw' degree method, 3

(i) The following is the page of a level book
from which severnl readings are missing.
Reconstruct the page and il all the missing
entrics. Apply all the necessary checlks,

ET.O.
§/27 - 700
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Draw the profile with a suitable scale and labe] it

Find the gradient between station 2 end station 4.

(6+3+1)1=11
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P-N (14141 ]H/Pr/ 1/ (N &Y
2017
GEOGRAPHY (Honours)
Fourth Paper (New Syllabus)
Eighth Paper (Old Syllabus)
(Practical)
Set- 1l

Full Marks : 50 Time : Four Hours

The fizures in the margin indicate full marks.

|, Measure the arca (on ground) of the given river
bassin spplying graphical method, « 5
2. (8) In o case of Boone's Projection, principal scale

of the projection is eguivalent 1o 1/10* pant of the actual
mdius of the earth. Calculaie the radius of the stindard

pamallel of 407 N of the same projection. 3

(b} Dmw & nct graticules on Bonne's Projection for
an aren extending from 307 S to P8 and 30°W to 20°E
st 107 interval on scale 1:40 = 10%, Label the projection

nely, 15+2=17

3. (a) The staff readings taken on three stations P, Q

and B by the same dumpy level without changing the height
of collimntion as 1250 m, 1,005 m and 1.485 m respectively,

PT.O.
W21 - TN
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giwnufrﬁ.ﬂﬂm.ﬂlll:ulﬂ:ﬂu

tion O is
The R.L. at station Q vl

rechoced level ot station P and E.

(b) G Prepare a ficld book o note the staff
rendings on given § (eight) equidistant
collinear stations, provided that, the
instrument to be shifted after 4th and Sth

readings.
(i) Ohserve the staff readings sccordingly and
nole them in the field book.

(i) Calculase the reduced Jevel of all the stations
(with the given B.M. information) using a

sumtable method.
iv) Plot the reduced levels with snitable scale
and lnbel it properly. 2+E+4+4=16

L

(b) (ii Plot the given quadristeral closed traverse
with a suitable scale ising & plane mble and
relofed pocessones.

(8) Label the plotted traverse properiy.
(i) Loecate the given object (x) within the
drywn. 10+2+4=16
O
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(b} (i) Prepare a field book to note the readings of
magnetic bearings of different lines of the
given quadrilateral closed tmverse using the
prismatic COMmMpAsS.

(@) Observe the readings from prismatic
compass znd note them in the field book.
(i) Apply required corections on the observed
bearings.
(V) Plot the traverse with suitable scale and
adjust the closing emor graphically.
2+t g =116
4. Labomatory notebook and Yiva-voce, 34 2=
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P-I (14141 H/Pr/17 (M & O}
2017
GEOGRAPHY (Honours)

Fourth Poper [Mew Syllabus)
Eighth Paper (Old Syllabus)

(Practical)
aal = I

This alternafive guestion sef to be used
in case qf inclement weather conditfon only

3. (b) i) Measure the distonoe betwoon the instrument
(1) and the given object () using the leveling
staff and transit theodolite, applying low
degree method. 3

(i) The following stff readings hove been tken
along four radial lines with four equidistant
stations on <ach of the lines. The srangenent
of lines and stations are also given below.
Calculote the redoced levels of cach point
and druw three contowrs with o suitshle scale.

Label the sheet propecly. G+3+1=10

PTA0.
A TH- 700
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P-1 {14141 JH/Pr/17 (N &O)
20017
GEOGRAPHY [Honours)
Fourth Paper [Mew Syllabus)
Eighth Paper (Old Syllobus)
(Practical)
Set- ¥l
Full Marks : 50 Time : Four Hours
The figures in the margin imdficate full marks.

1. Measure the area (on ground) of the given river
basin applying grphical method. 5
2. (a) Distance between two successive parallels

(Projection Simple Conic) ot 1" interval on the Central
Mendian is (.12 inch. Calculate the R.F. 3

(b) Draw a net of graticules on Sinusoidal

Projection for an mrea extending from 20° N o 70° N and
I75°E to 125"W at 10° imiceval on scale | em to 350 km.

Lebel the projection neafly. _ 15+2=]7

3. () Find fore bearings (FB.) of the following
observed back bearings (B.B.) of lines AR = 246™30°;
BC =315°30; CD=11%30"; DE=119*30". 4

PT.O.
824 = T00
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adl readings on given B (eight) equidistan
collinear stations, provided that, the
o ctroment to be shifted after 6th and Tih
rendings.

(@ Observe the suff readings accordingly and
note them in the field boak.

G} Caleulnte the reduced level of all the smtions
(with the given B.M. information) using &

siitnhle method
) Plot the reduced levels with suitable scale
and label it propery. 2eGrd+4=16H

O

& M Plot the given quadrilateral closed traverse
with o suitable scale using a pline table and
related sccessories.

(@ Label the ploted traverse property.

{il) Locate the given object (x) within the
traverse and plot it within the tmverse you
drwm. 1042+4=16

On

(b) @ Prepare a field book o note the neadings of
magnetic bearings of different lines of the
given quadrilatersl closed traverse using the
mm
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(3) .

(l) Observe the readings from prismatic
compass and note them in the field book.

() Apply required corrections on the observed

bezrings.

() Plot the traverse with suitable scale and
2+6+4+4=16

4. Laboratory note Book and Viva-voce. J42mS
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P-H{1+1+1]H/Pr /17 (N & Q)
2017
GEOGRAPHY (Honaurs)
Fourth Paper (New Syllabus)
Eighth Poper (Old Syllobus)
[Proctical)
Saf - Vi

This alternative question sef fe be wsed
in case of inclement weather condition only

Y. (b)) () Mewurne the distance between the mstnament
{f) ml the prven ohject () using the leveling
steff and trunsit theodolite, applying low
degree method, 5

(i) Helght of instrument s the R.L. of the line
of collimation when the instrument is comectly
levieled. (TreeFalse) ]

(i} Following is the feld book containing the
observed bearings and distances of all the
lines of quadnlaenl clossxd mvers, surveved
by prismatic comguss ;

RT.0O.
F31- 108
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Apply required correction to the observed
hearings.

Plot the traverse with a suitable scale and

adjust the closing error (if any) gmphically,
Label the drawing neatly.
4+3+2+1=10
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P- 11 (14141)H/Pr/17 (N &O)
2017
GEOGRAPHY [Honours)
Fourth Paper (New Syllabus)
Eighth Paper (Old Syllabus)
(Practical)
Sel-Y
Full Marks : 50 Time ; Four Hours
The figures in the margin indicate full marks
1. Measure the arca (on ground) of the given river
hasin applying graphical method s
2. (a) A Sinusoidal projection, derived from a
generating globe on scale S :60 » 10°, shows the length of

30"N parallel drawn on the projection as 12.9 inches.

Calculnte the Tangential Scale Factor on the said pamllel of
|latitude, Calculste the Radial Scale factor 2+1=3

(b) Draw a net of graticules on Cylindrieal Equal
Area Projection for the map of South Amenca extending
from 20° N to 60° § and 30° W st 10° imerval on the scale
I em 1o 550 km. Label the projection neatly. 15+2=17

~T.O.
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(-2
3, (a) Find the angle hetween the lines OA and OB,
if their respective hearings are
(i) 36*30" and 152°30° and
(i) 128230 and 298°00° 242=4

(b) ) Prepare a field book to note the staff
readings on given B (eight) eguidistant
collinear stations, provided that, the
instrument to be shifted after 3th and Tih
resdings.

(i) Observe the siaff readings accordingly and
note them in the fizld book.

i) Caleulate the reduced level of all the stafions
(with the given BM. information) using a
suitahle method.

(v) Plot the reduced levels with suitable scale
and labed it properdy. 2+etdrd=16

O

(b) @) Plot the given quadrilateral closed traverse
with a suitahle scale using a plane thie and
melated accessories.

Lebel the plotted tmverse property.

Locate the given object (x) within the
traverse and plot it within the traverse you
drawn 10+2+4=16

E =
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(3)
Or,

(b) (i) Prepare a fiekl book to note the readings of
nmgmﬁubnringiufdiﬁ'ﬂmtlimsufﬂm
given quadrilateral closed traverse using the
prismatic compass,

() Observe the readings from prismatic
compass and note them in the field book.
) Apply required corrections on the observed
bearings. _
(iv) Plot the traverse with suitable scale and
adjust, the closing efror graphically”
2H6+4+4=16

4. Laboratory notebook and Viva-voce. 3+2=5
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P-I{(1+14+1)H/Pr/17 [N & O)
2017
GEOGRAPHY [Heonours)
Fourth Poper [New Syllabus)
Eighth Poper [Old Syllabus)
(Practical)
Jet-V

~ Thiz alternative question set fo be wved
in case of inclement weather condition only

3. (b) () Measure the distance between the instrment
(T) and the given object (0 using the leveling
siaff and transit theodolite, applving low
degroe method. ]

(i} Reduced level of & point is its elevation with
reference o ground level / datum (pick up
the correct one). |

(i) The fore and back beanngs of PO, OR, RS,
SP were observed o be respectively :

S45°30'E and N45°3W'W. S60°0'E and
N60P4OW , S5°WE and NI2'W,
NEIe30"W and S85°0E .

Apply required correction to the observed
bearings.

PT.O.
B30 T
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Check for intermal angles of the traverse
PORS.

Sketch the method of determination of
included angle. 4+442=10
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P- 11 {141+ 1H/Pr/1B [N &)
2018
GEOGRAPHY [Honours)
Fourth Paper [Mew Syllabus]
Eighth Paper (Old Syllabus)
(Proctical)
Set-|
Full Marks : 50 Time : Four Hours
The flgures In the margin indicare fidl marks.
Atternpt @l questions.

1. Miasure the area of the given map applying graphical
mcthod. 5

2. (a) Draw a neat pruticule on Polyconic Projection to
prepare map of an arca extending between 40°8 to 80°8
parullels and 10°E 10 100°E meridians. Apart scale of the
map is | ; 85 x 10%, The inkerval s 107,

() What arc the differences betwesn perspective
and non-perspective projections 7 2416+2%20
3. (1) ) What is Bench Meark 7

() The true bearing of a line PQ is 210%45',

What will be {3 magnetic bearing if' the
declination s 715" W, 142=3

PT.O.
W21-700
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{ 2)
(b) Determine the height of the given cbject with the
help of a theodolite (Base in accessible)
(i} Prepare the proper field book and enter the
reading

(i) Calculate and plot the with a suitable scale.
B+7=15

O

(b) Prepare & closed Traverse Survey by Prismatic
() Prepare the feld book and enter the
readings

(i) Complets the table with necessary calenlations
and plot by using parnliel mendian method.

(@) Adjust the emors if any graphically.
THE+2=15

Or
Conduct a levelling survey with the help of
Dumpy Level with taking siaff reading of the given § stations
at least one change point. (with given interval).

() Prepare a field book and enter the readings.

(i) Calculate RL by means of Risc und Fall
method taking 20m as the RL of the first
ot

(@) Plot the profile with suitsble scale.
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{ 3:)
(¢} Convert the following readings to the form of
reduced beanng :
() 272°45
@ 102°30" 74+5+3=1%
4. Laboratory Note Book and Viva-voce. J+2=5
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P- Il [1+141)H/Pr/18 [N & Q)
2018
GEOGRAPHY (Honours)
Fourth Poper [Mew Syllabus)
Eighth Paper (Old Syllabus)
(Practical)
Set- 1l

Full Marks : 50 Time : Four Hours
The fipurer in the margin indicate full morks.
Atlempd afl questions:

miethid. 5

2. (a) if the length of standard parallel (45°S) in »

simple conic projection is represented by 2441 144 . What
is the R of the meduced earth 7

(b) Draw a graticule of Bonne's Projection
extending between 15°N 10 75°N and 45°W {0 165%W
longitnde at an micrval 15" apart on the scale 190 = 1¢

(&) Whr_erutnr*l projection is galled
*Orthomorphic” projectson 7 2H16+2=320

EF23 - T P10,
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[ Far Question No. h. Lottery iz to be allotied |
3. (o) Whal is called truc bearing ? Find oul Bagy
Hearings if
_t...,'_,fﬁfpﬂhmwdthmhgumeﬁBﬂ;rw
A g
n =i} Observed Fore bearing of line BC, 8.
5V ., APIWE I
r,,_I|:“'M'['I!Ijl!-.-hk:ll:li:!nl:lmtt-:l traverse survey by prismatic
P fyr the area ARCD (Given in the field).
2 (i} Prepare & field book and emter the readings

(i} Make necessary corrections and plot

|porndlel meridian method)
(@) Adjust the closing errars graphically (if any)
T4+G+2= 14
i

(b) Find out the height of an object with the help
of transit theodolite whene the buse is inaccessible (nstrument
mnd ofject located in the same vertical plane)

(i Propare o fiedd book with a fizld sketch and
enter the repdings,
(i} Calcubite the height of the object.
{iii) Plot the same on n suitable scale.
ged+3=15
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{ 3)
L,

Fird out the reduced levels of the given points

tnkzn 1.3 m interval with Dumpy level along a line of 12.0
m Length. The instnament is ehified al fourth point. The Bench

Mark at 3nd point is 6.00m.
() Prepare a field book and enter the readings.

(i) Plot the profile abong the line (with fise and
sl method) on o mitable scale. R+ 7=15

-
T?L@anm“mwmurﬁ is 260" and
forward bearing of DC is 86%. Coleulme SABC. 2
4. Laborotory MNolchook snd Yiva-vace, 3424




